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Introduction to cost accounting

The Concept of cost accounting — —aS) dwlme pgiin ¥

Joad @lg 2yl 5%1 Lsalonlly AU Asalmall loglall 3955 (&ls Lsaloell 9,8 dio) o JISH Auslona as
e deida ole (2 Lel Gle defines Cost Accounting IS dwlms cayad (1 Sasge Lo xS
Sk ayay gty Lty oISl bl puammiy ot 2ol dualell a5 5oLl (30 Ao garma
LY Slaled! gy (3 8y10Y) Buslung Lele 408,019 Laus ol Zalew col ¢lgw dzull Busgll 245
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Objectives of Cost Accounting G Llma Slaal Lol

i)l of dmiid | B gl AIE wyuses 1

Determine the cost of the unit produced or service:

Lrs Ake) 358 (ye Ldlas 3l apams oo LA (S5 (o oIS dpulma plland sy Il Bl Lag
Csall Ble @ JW S dpass Jlalls

To control costs S J e wla 2
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Help in making a pricing decision for products and services:
A Ca IS sl g adaad day (asls Gudos L JaSG ooy Lploag Lelamio slad cladll suss
oo 38 ST e Jsunmdl (ra 0Sies Bndinia slaad g 3 clliadl iy LeS . Y1 Ui § Llons
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Planning for the future : Jedieedd ndazet
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Preparation of periodic reports 9l yuyladd) slucl.6
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L aalil) Jodondl byl e Jaally danddl 38 I 81,u¥ly caniall 2l BLAIST (Say (G BLALL
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relationship between cost accounting, financial accounting and management accounting:

cost accounting and financial accounting :

Al dwloelly A G duwloms
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cost accou nting and management accounting
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Figure 1:explain for the relationship between financial accounting, management

accounting and cost accounting :
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Difference between Cost Accounting and Financial Accounting

i IS Alome AU Aoleed | L,Latl ol
Cost Accounting Financial Accounting Basis of Distinction
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The Cost characteristics A8 Lailad 4
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:Actual cost  ddaall a3 ®
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:Standard cost Etf,L..a.Ll Wil e

- Jaadl ‘3 4] J‘M‘sj‘ oS Lo ablae s WLl Spasdly Dlaglall ol Sigmedlg cluoly

dus| aalg Al 4l 3

Total cost &SIl 45531 ®

@-A—L‘ Slasg e Brdlo pl b yguay Lo é.'| s o @.LU B9

:Marginal cost  Lusl 53 @

21 5 g il ISl Zglae 33U (9839 Audlial g z Ll e Al A5 § 3alisll i

P Al o pall i JIKSy 33,1 a4

:Sunk cost a8, lall aJiSull @
O3 old elldug Hhall Blay (e sty (dly ol § Lslaseial ol L3S e @I oISl ells 2
IS s (3 350 ¥ Jady Ll s

:Opportunity costs  abud!  weall o JSs @
ble gadl 2ol Jodl I e 59,400 HLasl iz 5] e Jguandl oSl e o gl wiladl 43S 2

: Jageedll aalsy @'LLU aalSy ddoY 4.7

:prime cost__aJo¥l 453 @
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prime cost=Direct matarials + Direct Labor
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:Product cost l_ul\ P

Byale e elie B JIS ol 5yalne Aclive il slgw pudl e Lleems o G 2K

:Conversion cost Ll.:g_z’i_” P

(FO.H)Factory overhead 5,alll ae 4 ISl degazma (29

Direct labor cost 8,41 y4>¥19

Conversion cost =FO.H + Direct labor cost

difference between Cost, Expense, and Loss 5 jbudd) g i g paall g ABISH) ¢ 3 Al Ll

Lasld (3 playg (A o dailudl ¢ 32l g ((Expense)cd s mall Lol Layles Lidsyad o3 :(cost)aalsd!
i 3 (Asll) QLU S Al s dass ol dle s 22K (e aailall jad ool Lol L J sl
alilasg Aol (o wasdluel ¢ o) (S5 od) Aasld (& platy Jolie Oou L sminll 43l (p :(loss)s,lus]l
o Alie b Lesbd)lus e 3llay wile alila, Yy A8 e waiall o 3aly cbgme dule 3llay il

(Cost, Expense, Loss) (o S

A Table showing the difference between Cost, Expense, and Loss

expense loss cost
& Jpanl) Jilia Agalatd) A s Jganl) LeLlay dpalat) daat | Jgant) Jalia palatd) s
dadd gl dadie Al Matia) dedd ) dadia dasd o) dadla o

Lokl lasg Wi g Laki lasgs Wi g ki lasgy gis g

Blidall Cilaa) (38atl Ay g e Blidal) Cilan) 8ail Ay b | Blddall Cilaa) (gadadl A4y i
dadila g) dadd LeLlE,

Lot Wayaaty gy siailh) ¢Sy Latia Wayaaty Ly gfil) (Say ¥ | Latia Wayaaty Ly gialil) (e

Example:Ahmed company has for the dairy industry to buy (200 kg) of milk bags at a price of
(5,000 D / kg.) The company used (60 kg) in the cheese manufacturing process and during the
month it shows that there is the amount of (25 kg) stale.Required :Determine the cost and

expense, loss?
SOL: Cost=200x5000=1.000.000D
Expense=35x5000=175000D

Loss=25x5000=125000D
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1. What is the concept of cost accounting? What are the objectives?.
2. What are the uses of cost accounting?

3.What are the relationship between cost accounting, financial
accounting ?.

4.What are the relationship between cost accounting management
accounting?

5.What are the Difference between Cost Accounting and Financial Accounting?.
6.Explain  differences between cost accounting and financial
Accounting ?.

7.Draw a figure explain for the relationship between financial
accounting and cost accounting.

8. What is the concept of cost and what are its characteristics?.

9.Distinguish  between the following costs with examples: (answer
only 3 or2)

A: Actual cost, Standard cost. B: Total cost, Marginal cost
C: Exhausted cost, unexhausted cost D: Sunk cost, Opportunity costs.
E: prime cost, Product cost, Conversion cost F: direct , indirect costs.

10. Explain differences between Cost, Expense, and Loss.

11.Example :Ahmed company has for the dairy industry to buy (100 kg) of milk
bags at a price of (3,000 D / kg.) The company used (40 kg) in the cheese
manufacturing process and during the month it shows that there is the amount of

(10 kg) stale .Required :Determine the cost and expense, 10ss?

*

10



Clutallobel) el g ... oot ol iy 0.9
Al palie gt

Cost elements classification

Cost elements classification according to natural
2 dl Y Jelge pdat ey SIS polic muds cogall i s 940 3
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ol 5,5 delio
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fuelcugssl o spare parts e alad . oil 25351 1 Jlte 2Ll

cOsnSI el Jlie Sl gkl cadaty Al $ aaskiwd Ally packagenidly calll slgw W
ORI

Gl « Y Jlie yloY) Jleadl & Lalisezad § 9,8l Lz limy (1 spaper, pens aglist| </sa]

doall jmic Blods e dgns> Jow 3 g orall daduy Lo S Jadog: Labor cost Joall 4885 yaic -
aLialls cY i ad Osasds cpddl JLaadl syal Jie Aomiill Glamsll Gl 8ydlis <l slgme SlusY!
Aioylls olall Sl seals Bluall Jlesy Cruwaihly (adrddl soal Jie Byilo a2 ol 2lu¥ Joally

Al Sl J) &do¥l slodl Jigos e deluy gl jaiall 4 3 Uleall A2k junic duanl ylats.

plall leally slgdl G pimie By g 9pddl daliom Lo S e Joida : expenses Sldgpiall jinic -
Adminstartive ,marketing ) El_;)b‘b’\g 21.1_5_:5_“&.1\3 Lelinll _é__vl_,,al\ 8K peynis éi CL&YL

(;manufacturing

. w . o
:manufacturing dclive bibac *%*

Rent  aiall jl=yl @

Depreciation LAl =¥¥1 L6l @

Equipment piuacll 5K @

Insurance on factory equipment aiuall ¥ Sl e ol @
Repairs  aiall Gilwy c¥¥ly (KL mlins @

Power aiaoll dS,=ll goall @
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Lighting puacll BslsY! @
heating .l ®
:marketing dudigus iy lae X8
distribution alull ajeull wilaas @
Rent for office apdl ulS slmyl @
Advertising (Me¥lg mg All laas @
Storing z LM (st aiylias @
Depreciation acdl sl il &UI L0 @

:Adminstartive @,/o¥1 is,las %
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Cost elements classification according to functions

Pk b e s Y g grde (¥ Al casllgdl of ade 3atll e

dods L oY) dauds oIl dlas g 4N juaie peed cullazy : (Production Costs)z LY oS yuolic .1
uolie B350 LYl IS5 Jar s . Aprls] clous 3STya 5 2Ll 351 (on Rl Rasdagl oy Ja S
D ey

& s s iilee S aladl z ) § J5us @1 lsll juolic 28K Jazads : material sfgll 2405 — |
Sigo3ll e yilie S alaadl i) § U35 Y LSy A oY) duleadl § palud &1 o « &UY delin

czwY Jlme @ otlaladl 5oy ilisie (e g 9yddl dhaxty Lo US (29 :Labor cost Aleall 2aK5 -
el clensdl Jlmas

CedY e Q}A;Lﬁb < 5,69

Bylal Lt & gzl pan Gugudll dadsy (yonts ¢ (Marketing Costs) gsgudll S5 jolic 2
Jeidds o Ll ellaal) oy J1 Llomss @ Lol 5She o Balill cilamill Wil dia gisilly el
D oke a JIS)

Colegidally AulSIl cilga¥y « cagdanlly Aailly ajxlly calll slga :(material cost) slgll 2215 ]
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259lly aedl aludl 3 cndelally Auoliedl lisyllg 5521 : (Labor Cost) Jeal| 22055

Lolsdl Jadl Jilay Blaos IMa) o Gaylall jlel :(Marketing Costs others) s, | ddigud S S

s | dadssll sda s o ((Administrative & Finance Costs) ddigaiy &yls) adiS polic.3

D oesatiy ¢ g oyadl alhla] AT sleasd)

clegdally 4oUSTl clos¥l ¢ slge 225
21._5.[.3}01.”3 ZL»")\..\}/\ ‘ALwé;Y\ Q C}}.LOLR_” )}.’;-i : MLA-G Zu.lis %
Lple cnalally 8,15%1 &by ilee IMa) ¢ 2uSadl c¥geally Wilgall t lbgpall B

Q/Between whether the following elements of( direct materials costs or direct labor or

industrial expenses).

Insurance on factory equipment spare parts
Package Advertising
Lighting wages of works on the machine
wages supervisors Paper
Rent Storing

bl Bus gy Laddle cows S piolic cugss 3
Cost elements classification according to nature:
J) S alie @i cosll 1dn 945 3
Direct costs 8yl o JISS -1
Andirect costs §ydila pe aJISG -2

Busg Jol e Liaas 8y a3 N wlaaill seiy anen Sle (Direct costs) §yald) ISl Joidlg
(D.m) ( Direct materials) 8,&ld! slgll -1
(D.m) (Directlabor ) 8,4l y92¥ -2

(D.exp) (Direct expenses) &,aLdl casylall -3

Fabric in the garment industry s Aclis 3 @.wﬁ\ e
Wood in the furniture industry &Y Aelis ‘3 i
Workers' wages Jleadl el
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e 09 ¢ Ligae gLl B>y Jal e By ¥ & IS sg1 e B)le Lv-i ‘zgi c bl ! las g,

d. 24 <J‘A d ?.i
wages supervisors. fuelcigssll « spare parts ;L alad ¢ oil 593581 Jlis . JSS ¢ 9,41 38150 (0 Acgazma o
Bl EY) yea

Q:Between whether the following elements of(Direct cost or Indirect cost).

® Workers' wages
® spare parts
® Wood in the furniture industry

® Fabricin the garmentindustry

Cost elements classification according to behavior.

Explain the difference between variable and fixed costs.

x> 83038 . LLA e 3l ae Layb s Gl sgadl e Bylie (p9 @ variable cost b pail| a1

dasd B0L5 I L S35 Slacdl qzx> 8als « saall Y SIS polie Aayd S0by S35 z Y
i G Badall A JISE e Bus ol caas O (ly - il andl B JISS polic

Example:In one of the industrial companies, the production of one unit of product Q needs to beA ata

cost of 10 D.. The following table shows the cost of material A according to the size of production in the

company:
Q V.C TVC
Unit 1000 10D 10000D
Unit 2000 10D 20000D
Unit 3000 10D 30000D

Bl S aibas wuass (Say @bad) Joad! o
(30000, 20000. 10000) LoLaill pom a3 s Liapbs siss 5paall il Jam) 1
(10 D) el spaill Ca Sl (o Buslgdl Busgll Cyms .2

3.Total Variable Cost = Total Quantity of Output x Variable Cost Per Unit of Output.
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TVC=Q XVC

4.Variable Cost Per Unit of Output=. Total Variable Cost /Total Quantity of Output
VC=TV(C/Q
% 100 = LLall o> § pad) J Bpaid | eS| s 4w 5
adidl A e dlial

lubricants, sales commission and shipping costs. Material Consumed, Wages, Packing

Expenses.

Example: A mobile phone manufacturing company purchases speakers from another company at a
cost of S2 per speaker. The speaker is a direct materials cost for mobile phone manufacturing
company. One speaker is used to complete a mobile phone. The total and per unit cost of speakers
at various levels of activity is given below:

Sol:

No. of Mobile

Cost of One H Total Cost of

Phones Produced Speaker Speakers
_1 $2.QQ ' $2_ 500
50 $2.00 $100 <00
100 $2.00 $200
400
150 $2.00 $300
200 $2.00 $400 oo
250 $2.00 $300 200
300 $2.00 $600 100
350 $2.00 $700 50 100 150 200 250 300

Bu ol A4S Sy Bl | AIEL Casladl calsy) LakS 31335 lelameld Edlan¥l 2aISl) o] Lasy *

Sl e il By ay Liegame (3 aT (95 (a6 (I a9l (e Byl (9 ¢ fixed cosr 4l aJIS).2
ez Smaall ou&e slamily uan fixed cost ALl IS (o Bus gl cnas OIS (ly ¢ LLAU) e
Relevantrange @M il (ress LLALI

¥l SIS ey susgl Basall 24kl 48 A5 gl gl I3 o Relevant range @M1 gl
A Ll spdne de¥) (£ 5, aldl K (s gul Janh Leaie JolSIL 48U JMacwl lady paxs

ol Lrag piie Lo 8yaldl e
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For example, the cost of rent is 30000 $ in one of the industrial companies that produce the product.

The following table shows the share of units produced from the cost of rent:

Q AFC TFC

Unit 1000 30D 30000D
Unit2000 15D 30000D
Unit3000 10D 30000D

t ok LS fixed cost 4l oK) (asbas dyass oSy @lad) Jodzxd! o

(30000 ) LLadl pom> 3 sl e ol C8pimy Al 2l IS Jlea! 1
i ¢ LA ez ol oS bls] R fixed costau, ) o S (po su>gdl cums L2
Bu>oJ(10D) Llidl o> i bedie Jay u>gll cimig (30 D) Liladll ez Jay bedie dijs Bl

Average Total Fixed Cost 3
Fixed Cost Total Number of Units Made :
The total fixed cost= AFCXQ 4

% 0= LLiill ex> 33 J| Lapdd udy Goumall A8l sou> § Al Las fixed cost 4Ll & JISEN 5
Al IS e dial

Depreciation, Rent, Salary, Insurance, Tax, Advertising, etc.

In above example, if mobile phone manufacturing company rents a building for its factory for
$5,000 per month, it will have to pay $5,000 for every month even no mobile phone is produced
during the month .The behavior of fixed is shown in the following figure:

Monthly Rent of the No. of Mobile Average Cost Per

Building Phones Produced Mobile Phone

$5.000 1 $5.000/1 = $5,000 i

$5.000 50 $5.000/50 = $100 do

$5.000 100 $5.000/100 = $50

$5.000 150 $5.000150=$3333 &

$5.000 200 $5.000/200 = $25 ——

$5.000 250 $5.000/250 = $20

$5.000 300 $5.000/300 = $16.67 O it b i

Q/ Between whether the following elements of(Fixed cost or variable cost).

#* Packing Expenses
Depreciation
Lubricants

Rent

sales commission
Salary

Insurance

FEEEEEE

Tax
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AT g AlS Badie o Anly coud P G 8 a5 e Bylee (22 mixed cost dalizll -3

¢ LLA (e (rae ot G ol IS s i (0 A e Awg ¢ bLAAN Getun 44T e Wi
#3529 (ASY aguy ) culi o3 casldl 555508 Jla . LLANN (Goun 8L5 e 3oLl cld way pany o
(UL p gy ) e

Jaly el Gk e slexeYl iy fixed costin Bl S o variable costs paill o IS (o Juadlly
o bladl albgius (ro ossinnes Aalaill paiall al8)] cny A8l Alys e a9a5 Ay . bLAU Goiune
el Jually coldl o sl yams (o,a] LY pom (0 Oteze>

Example: The total production costs for several levels of operation in an economic unit
are as follows:

level Number of units produced mixed cost
1 20000 350000D
2 30000 450000D
3 40000 550000D

Using the high-low method, what is the fixed portion of costs¢

solution:

Y el WS — oY x| WIS = A ki) =B ol 8l ALK Juas

SY et Dlusg sue - P pxdl Slusg sue ezl § il

sus>gll / 5Lus 10 = 200000 = 350000 — 550000 =

20000 20000 — 40000
oo ikl o sl il ¢« Juddd Gorue SO Amdl lus gl sae (§ s paall LK) Juas ipiang
t b LS ey ozl IS e
: Jo¥l sgiudl
350000 = 7Ly dalks Jles]
200000 = 20000 x 10 = & pwazl| sl

150000 = 200000 — 350000 = 5 pazl| 42l — ! EH Jl| = axldl ISl

TC =The total mixed cost

TFC = The total fixed cost
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TVC=The total variable cost

VC = The variable cost per unit of activity

X =The level of activity

Q -Information concerning amounts for Bridges, Inc. appears below:

Cost Units
January $96000 1,200
February 120,000 1,600
March 90,000 1,100
April 102,000 1,300

Using the high-low method, what is the fixed portion of costs? Choose February and March from

the Units column.

VC= [$120,000 - $90,000] / [1,600 - 1,100}

=$30000/500
VC =$60 per unit
TVC=VC*X
=60%*1,600
=$96000

TFC=TC-TVC

= $120,000 - $96000

=$24,000

Q: Based on a table below of total costs and activity levels, Using of the high- low
method, what is the fixed portion of costs?

Details

June July August September | October
activity levels per month 50,000 60,000 70,000 80,000 90,000
Total cost per month $15,000 $16,900 $18,000 $20,850 $22,800

VC=[$22,800 - $15,000] / [90,000 - 50,000}

=$7800/40000
VC =$0.195 per unit

TVC=VvC*X
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=0.195 (50,000)

=$9750
TFC=TC-TVC

= $15,000 - $9750

=$ 5,250.

Q1: Between whether the following elements of( direct materials costs or direct labor
or industrial expenses ,marketing expenses:

Insurance on factory equipment

spare parts

Package Advertising

Lighting wages of works on the machine
wages supervisors Paper

Factory rent Storing

Depreciation of office furniture Power

Rent for office heating

Repairs

Depreciation of Machinery or buildings

paper, pens

Spare parts

fuel

oil

supervisors wages

Q2:Explain the difference between variable and fixed costs.

Q3: Between whether the following elements of(Direct cost or Indirect cost).

1.Workers' wages 2. spare parts

3.supervisors wages

4, fuel

5. Fabric in the garment industry.

6.Wood in the furniture industry

Q4: Between whether the following elements of(Fixed cost or variable cost).

Packing Expenses

Lubricants

sales commission

Depreciation

Rent

Insurance

19
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Salary Tax

Advertising

Material Consumed

shipping costs

Wages

Q5: Based on a table below of total costs and activity levels, Using of the high- low

method, what is the fixed portion of costs?

Month Production Total Cost
January 800 $93,000
February 1,100 114,000
March 1.200 119,000
April S50 103,000
May 1.300 126.000
June 1,250 124,000
July 1,000 107,000
August 1,050 110,000
September 1,000 105,000
October 900 100,000
November 1,050 110,000
December 1,200 113,500

Using the high-low method, what is the fixed portion of costs?

dulidy dipogs 9 Y (e padll By (e Byl

dSIKTY 38 ya g ARISH) Cdan

Cost object& cost Center

:Cost object or uint ( »LuY! ) 488l dua of Busg

il i Q}Su»j A ISs oold .)\)l\ ‘é\i«.” éi Lolaidyl E._L>5_Uji lpL’i.v}/\ %J.A.Uji Mﬁ\)s)l Al

A Busg
s oLl Wlae a8 deadine 38lS5 Clas o) Alial

<y JaY) delia -1

(2 ) s/ o), s, Jas
(033) Ss/ ok by J8 -
(dsk) 32k i e gl dolia -2

sy ¥ dslin 3
(23 ) a8 93 8 022 1000 el i -
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(33 ) (e pdanina (pa Al guS Y oS -
(p) O Qs e Silla B
(O38) b / oms Clany) dolina -4
(2) pand [3sle /g wedhal) dslia -5
(2% ) Jaga b b bl delia -6

CAudlxie (tae 95 (0 Sleas ol uilsie cnan blid 8,5l bt Cost Center 453) 4S 4 SByag

Biade dous ol pade ke AaKHl 3850 (e by Abilats LY algs (1o Aegazme e Al 38500 (Soizmsg
oelall AL
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Q1: Define cost object and give three examples? *

Q2:What is the cost center concept?.

i) apaadg a5k

Methods of identifying and
assembling costs

el 1da dang (Lolatd¥) Busoll clial e K p3e5 § 8 cenls alio 3835
Sliag Bugll elal @ugasy ciball HLall dlasl § opud Ay Slaglae @uads Jo¥ (g9
Lo IS apazmiy dyded] Glo Bue

Absorption Or Full costing. 2,501 24181 4a5,L — 1
Variable Costing .3 aaxll 485501 4441 — 2

Aol o L allss o) LW jelg¥) CaISs saall allaill oS elgas Bylall sa aoiiud
Caleall g Al L adasll CaISHl qlas ae s LS
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Absorption or Full — costing :( daidll) 20| 426500 446,01

¢ Byaldl 5eoM By ALl slell) Aeliall A ISE 355 of BlisSh aren Aaykhall sda Jalad
Latell o dayk, 2yl sda (s czatie aSGS (8,200 e Aueliyall Ca IS
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LI Lkl 585 3 4 LAkl Jlee¥l &l Slo po Lyaill Ladds 8yluedl / sl Slio 3azy -1

(28 oSS — &S wlsl) ) ldgpally Slal¥l dblas : gl Tudl pe 3azs -2
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disadvantages of Absorption or Full — costing s aylaill Aol cugue

] Slasgll (e 3, 2L e oISl palie Juems s Juloetd @ubad! (ol jLast gaie -1
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Costs statement - beast on absorption costing - or full costing:

Details Amounts Amounts
First Product Cost:
A: Direct cost XXX
Direct Materials XX
Direct wages XX
Other direct expenses XX
B: Indirect cost XXX
Indirect Materials XX
Indirect wages XX
Factory Overhead cost XX
Fixed
Variable
=Manufacture cost XXX
Add Work in Process Inventory begin. e
Less Work in Process Inventory end
(XXX)
cost of goods manufactured
XXXX
Add Finished goods Inventory —Begin XXX
= Cost of goods available for sale XXXX
Less Finished goods Inventory —end (XXX)
= Costs of goods sold XXXX
Second :Add marketing Costs:
XXX
Variable XX
Fixed
XX
Total Cost of sales XXXX
Income statement:
Sales XXX
Less: Total Cost of sales XXX
Gross Profit or Gross Loss XXX
Less : Management cost (xx)
Operating income ( Loss) XXX

23
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Ex1: The following data, for the records of one of the industrial

companies, for September 2016.

-Variable cost per unit:
*Direct materials ...... $ 750

* Direct Labors ...... $450
*Variable F.O.H ... $300
*Variable marketing cost .... $300

- Monthly fixed costs:
*F.O.H....350.000%
*Marketing 290.000%

*Management 1.500.000%

- Selling price per unit ..... 4200 $

- Number of Units produced and Sold ... 1200 units

- work in process begin 2.000.000
-work in process ending 1.600.000
- finished goods begin 1.800.000

- finished goods ending 1.500.000

Required: Prepare A list costs & Income Statement in accordance

with absorption costing(full costing).

24
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List Costs statement in according with absorption costing - or full
costing:
Details Amounts Amounts
First Product Cost:
A: Direct cost 1.440.000
Direct Materials(750x1200) 900.000
Direct wages(450x1200) 540.000
B: Indirect cost 710.000
Factory Overhead cost 710.000
Fixed 350.000
Variable (300x1200) 360.000
=Manufacture cost 2.150.000
Add Work in Process Inventory begin. 2.000.000
Less Work in Process Inventory end (1.600.000)
cost of goods manufactured 2 550.000
Add Finished goods Inventory —Begin 1.800.000
= Cost of goods available for sale 4.350.000
Less Finished goods Inventory —end (1.500.000)
= Costs of goods sold 2.850.000
Second :Add marketing Costs: 650.000
Variable (300x1200) 360.000
Fixed 290.000
Total Cost of sales 3.500.000
Income statement:
Sales 4200x1200 5.040.000
Less:  Total Cost of sales (3.500.000)
Gross Profit or Gross Loss 1.540.000
Less : Management cost 1500.000
Operating income ( Loss) 40.000
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Ex 2:Using the following data for April, calculate the cost of goods
manufactured:

Direct materialS .......oooviiiniiiii $23,000
Direct 1abor ... $21,000
Manufacturing overhead....................coooiiii, $37,000
Beginning work in process inventory............................ $13,000
Ending work in process inventory ...............cceeevveinnnn... $18,000
The cost of goods manufactured was:

A) $81,000.

B) $76,000.

C) $94,000.

D) $86,000.

EX3:The following information was taken from the accounting records of
Baghdad Manufacturing Company. unluckily, some of the data were
destroyed by a computer malfunction.

Details Amounts
sales 150.000% ?
Finished goods Inventory ,Jan.1,2010 35.000% 28.000%
Finished goods Inventory ,Dec.31,2010 40.000% ?
Costs of goods sold ? 61.000%
Gross Profit(margin) 25.000% 23.000%
Marketing(selling)&management ? 1.000%
Operating income 10.000% 22.000%
Work in Process Inventory, Jan.1,2010 ? 14.000%
Direct Materials 18.000% 8.000%
Direct labor(wages) 15.000% 9.000%
Factory Overhead cost 50.000% ?
Total Manufacture cost ? 35.000%
Work in Process Inventory,Dec.31,2010 22.000% ?
cost of goods manufactured ? 45.000%

Required :Calculate the unknowns Selected by question marks:

Variable Costing method  :3.aiall 4diSil) 43, 3.2
malic e lgpran Labil cilaag Joead o ) doeatll (ulad e ag @
Al o Jaat duia) o duyge CallSs Al Callall ey ¢ Jadd 3 yuaial) Cailal)

(3 Caig) JleeY) il
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advantages Variable Costing method

el Ll el Al 3% ) Adlal) 350 (e ABI CallSall g caasy Y Ul
(sl POl )daladll dysin
tJlae b bl Mas) (e Leiilla g alall L sylay) dphl selus 2
FREN SRR |
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gl ol ply) A hanl L8 sl -
ol il o) oyl e eyl -
Glasgll e silall je Callsill yalie Jaeads oy A5 Ja b Ayl e lis =3
Jai ey S Ll Qalad e spalall e CallSal) e Culil o) dallaal [l dxia
- sl sl e Loyl Jaead cVars aladin) ) dalall g J2a) il

Disadvantages Variable Costing method:

o (e i) Z Y Y ey e an 3 Al cadlsall o (e eyl e -1
daxinls cal Ala b g il il e dlablaa) o Josd Callall o2y . bajualic
D3y Call<all 538 (e Lgaraal Jalill sasg 3415 e () (g puall (pe A ¢ Jaiall
. salaily)

S jalic am @lligh ¢ 30l Cadlsally i) i) jalie G diaill 4y 92n -2
Gyt ot yuaiall 138 @lslis Ay Ao oulaal) Jony 8. A5 and f 50 40l
oancts 28 Coglhaal) Captll ) Gy o 2ags a3l e Aligha 5y Pl Lladl) ana
- Ansdsale) g ) (535 Lae ainll Ayl

P YIS byl Al dapl (elad o CallSal) Al dlac) (Sayg
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List Costs statement in according with Variable Costing method

Details Amounts Amounts
First Product Cost:
A: Direct cost XXX
Direct Materials XX
Direct wages XX
Other direct expenses XX
B: Indirect cost XXX
Indirect Materials XX
Indirect wages XX
Factory Overhead cost XX
Variable
=Manufacture cost XXX
Add Work in Process Inventory begin. XXX
Less Work in Process Inventory end
(xxX)
cost of goods manufactured
XXXX
Add Finished goods Inventory —Begin XXX
= Cost of goods available for sale XXXX
Less Finished goods Inventory —end (xxX)
= Costs of goods sold XXXX
Second :Add marketing Costs:
XXX
Variable XX
Total Cost of sales XXXX
Income statement:
Sales XXX
LLess Total Cost of sales XXX
Gross Profit or Gross Loss XXX
Less : Management cost (xXx)

marketing Costs ( fixed)
Factory Overhead cost (fixed)
Operating income ( Loss) XXX
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using Variable Costing method

List Costs statement in according with Variable Costing method

Details Amounts Amounts
First Product Cost:
A: Direct cost 1.440.000
Direct Materials(750x1200) 900.000
Direct wages(450x1200) 540.000
B: Indirect cost 360.000
Factory Overhead cost 360.000
Variable (300x1200) 360.000
=Manufacture cost 1.800.000
Add Work in Process Inventory begin. 2 000.000
Less Work in Process Inventory end (1.600.000)
cost of goods manufactured 2 200.000
Add Finished goods Inventory —Begin 1.800.000
= Cost of goods available for sale 4.000.000
Less Finished goods Inventory —end (1.500.000)
= Costs of goods sold 2. 500.000
Second :Add marketing Costs: 360.000
Variable (300x1200) 360.000
Total Cost of sales 2.860.000
Income statement:
Sales 4200x1200 5.040.000
Less : Total Cost of sales (2.860.000)
Gross Profit or Gross Loss 2.180.000
Less : Management cost (1.500.000) (2.140.000)
Factory Overhead cost (fixed) (350.000)
marketing Costs ( fixed) (290.000)
Operating income ( Loss) 40.000
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Q1:What do you meaning for the Absorption or Full costing method and
what are their advantages and disadvantages ?
Q2: What do you meaning for the method Variable Costing and what

are their advantages and disadvantages ?

Q3: choose the correct answer:
1. Using the following data for Jan, calculate the Total Manufacture cost in accordance
with absorption costing(full costing).
*Variable cost per unit:
Direct materials ...... $ 650
Direct Labors ...... $250
F.O.H ... $200 Variable
* Monthly fixed costs:
F.OH .... 2,500,0008
*Number of Units produced 1800 units
*Number of Units Sold 1600 units.
- The Total Manufacture cost was:
A) 4.250.000%
B) 4.400,000%
C) 4.480.000%
D) 4.680.000%
2.Using the following data for Jan, calculate the Operating income in accordance with
absorption costing(full costing).
Costs of goods sold 2.850.000%.
marketing Costs 650.0003.
Selling price per unit ..... 4200 $
Number of Units produced 1800 units
Number of Units Sold 1200 units
Management cost 1.480.000%
- The Operating income was:
A) 40.0005.
B) 55.000%.
C) 60.000%.
D) 80.0005%.
3.Using the following data for Feb, calculate the Total Cost of sales in accordance with
Variable Costing method:

*cost of goods manufactured 2.100.000%
*marketing Costs

Variable cost per unit 300%
Fixed 120.000%

*Number of Units produced 2000 units

*Number of Units Sold 1600 units

*Finished goods Inventory ,Jan.1,2012 1.800.000%
*Finished goods Inventory ,Dec.31,2012 1.500.000%
-The Total Cost of sales was:
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A) 2.000.000%.
B) 2.500.000%.
C) 3.000.000%.
D) 3.200.0005%.

4.Using the following data for Jan, calculate the Operating income in accordance with
Variable Costing method

the Total Cost of sales 2.880.000%

Selling price per unit ..... 4200 $

Number of Units Sold 1400 units

Management cost 2.000.000%
Factory Overhead cost (fixed) 600.000 $
marketing Costs ( fixed) 500.000%

- The Operating income was:

A) 100.000%.

B) (100.000)$.

C) 120.000 $.

D) (120.000)$.

Q4:The following data, from the records of one of the industrial companies,

for September 2011.
1- Variable cost per unit:
Direct materials ...... $ 650
Direct Labors ...... $250

Variable F.O.H ... $200

Variable marketing cost .... $200
2-_Monthly fixed costs:
F.O.H .... 2,500,000%

Marketing & mangement ..... $2,000,000.

3- Selling price per unit ..... 6000 $
4- Number of Units produced 1800 units

5-Number of Units Sold 1600 units
5- work in process (beginning and ending ) =00
6- finished goods ( beginning and ending) =00

Required: Prepare Income Statement in accordance with absorption
costing(full costing). and Variable Costing method

31



.................................................................................... ol ol wlly 9.9
Control element costs
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Example: This example is based on the following transactions: February

(1)Beginning balance: 800 units @ $6 per unit.

(4)Received 200 units @ $7 per unit.

(10)Received 200 units @ 38 per unit.

(11)Issued 800 units.

(12)Received 400 units @ 38 per unit.

(20)Issued 500 units.

(25)Returned 100 excess units from the factory to the storeroom to be recorded at the
latest issued price.

(28)Received 600 units @ 39 per unit.

R)prepare the cost of materials and cost assigned to the inventory at the end of the

month using (FiFo method).
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FIFO
First-In, First-Out Method
Received Issued Balance
Unit Unit Unit
Date | Quantity | Price | Amount | Quantity | Price | Amout | Quantity | Price | Amount
Febl 800 $6 $4800
800 6
4 200 7 $1400 200 7 6200
800 6
200 7
10 200 8 1600 200 8 7800
200 7
11 800 6 4800 200 8 3000
200 7
200 8
12 400 8 3200 400 8 6200
200
200 8 300 8 2400
20 100 8 3800
300 8
25 100 8 800 100 8 3200
300 8
100 8
28 | 600 9 | 5400 600 9 8600

PAE Aalaal) asdied oauall Jad) 48l pprAstitt*

Saall LAl dua bl — el saall ) dma,

8600-8600-12400+4800
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Example: This example is based on the following transactions: February

(1)Beginning balance: 800 units @ $6 per unit.

(4)Received 200 units @ $7 per unit.

(10)Received 200 units @ 38 per unit.

(11)Issued 800 units.

(12)Received 400 units @ 38 per unit.

(20)Issued 500 units.

(25)Returned 100 excess units from the factory to the storeroom to be recorded at the
latest issued price.

(28)Received 600 units @ $9 per unit.

R)prepare the cost of materials and cost assigned to the inventory at the end of the

month using (LiFo method).
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LIFO
Last-In, First-Out method
Received Issued Balance
Unit Unit Unit
Date | Quantity | Price | Amount | Quantity | Price | Amount | Quantity | Price | Amount
Feb-1 800 $6 $4800
800 6
4 200 7 $1400 200 7 6200
800 6
200 7
10 200 8 1600 200 8 7800
200 8
200 7 5400
11 400 6 400 2400
400
5600
12 400 8 3200 400 8
400
100 300 6 1800
20 3800
300 6
25 100 6 600 100 6 2400
300 6
100 6
28 600 9 5400 600 9 7800

12200+4800-9200=7800
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weighted average method ymill ekl Juall ddsybg .3

elyds Ldae Sigus> (nadd ol ddl e b ,éJJ‘ LiS}."zl\)JLaJ\M @M‘ lia adsiug

1iSay dyuz Haw zdiudd Supuix

Gbadl do Il A+ Aaliwal) Aol
(W A M) Per Unit =

Gladl dodl 4SS + Aaliceal) 4pagl)

Example: This example is based on the following transactions: February

(1)Beginning balance: 800 units @ $6 per unit.

(4)Received 200 units @ $7 per unit.

(10)Received 200 units @ 38 per unit.

(11)Issued 800 units.

(12)Received 400 units @ $8 per unit.

(20)Issued 500 units.

(25)Returned 100 excess units from the factory to the storeroom to be recorded at the
latest issued price.

(28)Received 600 units @ 39 per unit.

R)prepare the cost of materials and cost assigned to the inventory at the end of the

month using (weighted average method).
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Moving Average Method

Received Issued Balance
Unit Unit Unit
Date Quantity Price Amount Quantity Price Amount Quantity Price Amount
Feb-01 800 $6 $4800
4 200 7 $1400 1000 6,2 6200
10 200 8 1600 1200 6,5 7800
11 800 6,5 5200 400 6,5 2600
12 400 8 3200 800 7,25 5800
20 500 7,25 3625 300 7,25 2175
25 100 7.25 725 400 7.25 2900
28 600 9 5400 1000 8.3 8300

4800+12325-8825=8300
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Q71: The following data extracted from industrial company for materials

(X)during January :

a)Beginning balance :500 unit @1.200$
b)Received (purchases)

6/1 : 200unit @ 1.25 $

10/1 : 400 unit @ 1.30%

25/1 : 500 unit @1.40 $

c)lssued :

15/1 :560 unit

27/1 :400 unit

R)prepare the cost of materials assigned to the inventory at the end of the month

using (FiFo and LIFO method, weighted average method)

Q2: company record the transactions for October was as follow.

a)Beginning balance :700 unit@5 $
b)Received (purchases)
4/10 : 300unit @ 5.20 $
8/10 : 300 unit @ 5.20%
13/10 : 1000 unit @5.10 $
21/10 : 400 unit @5.50%
29/10 : 300 unit @5.60 $
c)lssued :

3/10 :400 unit

9/10 :500 unit

11/10: 300 unit

23/10 : 600 unit

27/10 : 800 unit

R)prepare the cost of materials and cost assigned to the inventory at the end of the

month using (FiFo and LIFO method, weighted average method ).
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3 gall A0l ciladlaal)
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account Materials control XxXxxxxx

account payable control (on account) Xxxxxx

Or account Bank (cash) XXXXX
il gall giillas aaal ()5 5l sale) ) gla ) alla 8 uSay

g ‘\_AL\J‘){\ ebﬁm .é)a.:::L.\AJ‘ A\}d\ S pa LJ).»AS\ RRT Gm:‘)lz\,,\.‘\g\ o‘)&l.,u .AUA u.i‘y.a_z
o)) and L& 3Rl ZHAY) AT dlael Al (pal gl ) e algall alla 2Tl
oY)l cadlall calal s i<l
account Work in process control XXXXX
account Materials Control XXXXXX
28 e Lela )l o)l gall 3ale) 2ic
account Materials control XXXXX

account Work in process control ~ XXXXxX

Labor element control  Jeal 44l aic Je Ll8 ]I : L

Sl A30K5 3 35 &) S yiolic a GLls solidl jpmiall Lol 245 pmic Jiay
dle Wlad L) Ados (250 o0 LY paiall s e Bl (aledy  Zmull susls]l
9 ¢ OSww > ol I IS (aassy SLAAL L) Jeall Jie¥! alaseind) §uds Bug
PR oY cludsl Gyl eal

Time Rate System cdgll Jumae el.lé.% -1
Piece Rate System daladll Juao pllai-2
Incentive Wages plans Lol Hoa¥ ddsyl-3
Time Rate System < gl Jana allai ]

Gelad) ) Joee 20a% 2 lsnsar 3 Gulail) 8 bl @lldy audy JS Ayl 638 Jaxiad
ol e Gadll e Aisma sl Jlalall Blinial sy el o) gsnad) sl asdl 5l 3asll
pad) Jals Jalall ol il oY) ) oY1 S cleladl ae b JaY) Jaee cape Juals
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o 53 5 )leall Cm AV Jame Cabinys . Jalall dlis 2 Y] laie o laill iy
caylalilly Jeall Gagh e Diad Sl

rJW gl e 9y Jalald Emiud! gudidl 12 ) Jgso s
debudl yol Juae x ddasall Joall cilebu = Joladl el
Examplel: A worker is paid 15% per hour and he spent 400 hours

during a particular month in a factory. What is his total earning of
that particular month¢

Solution:
deludl gl Jume x ddadll Joadl lelu = Joladl Glami!
total earning of 15x400=A
that particular TT— 6000=A
month?

Example2: James is a direct labor employee who works a stand 40
hours per week. He paid basic rate $ 15 per hour.

Required. What is his total earning of that particular week¢
Solution:

deludl ol Jume x ddadll Joadl lelw = Joladl Flaiziu!

total earning of 15x40=A
that particular T 600=A
week?

*The following are the advantages of the time rate system.

2 oludsl § A dagu (1)
Y S (e Jlall (ady Ggasiang uli 2l Jalall 45 (2)
Aol 2 Bl cdlars @I ¥ Lell 4eidla (3)
S e Jleadl Adlye Ji S Bpduall ailial] 4adle (4)
- 3829 pylo L8y allas aug I 7 lizes LSy 5,801 aibiaell 4adls (5)
*This method has the following disadvantages:

Jolall g 83:¥15 11 79y J2a5 Ll (1)
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cgdlall Jaatl jles é;}.&iﬁb Joladl Jleal Jlais! 85Ls5 (2)

IS B3l 1 AL (655 5ol 5l el o izl Jaladl sl (3)
Cdegdull 592¥1 3Ll Jlls gilall cdghl sbssl (4)

h.hl.bi L",')Lﬁ‘ J)Ja."j):}S‘ L Ll A—i—‘-h-). JjY‘ mhL:J‘ dxliaag o o) dxlian (s u'a)\_a.‘i.” (5)
il Jes olelu

Piece Rate System dakadl) Jana o33 )

2923 Bppamll jeo¥ lalas guad ol o z LY 5Ly Ausliatdl susg ol cuk, 13
Jaladl Ly Aatad JSI o Juas dyoms Lo dadagedl sia aoaiad 131 dalaally ;o Jia
el oads b gty Lzl @I Slusgll sae (e wetay syl oo el

A0l Aataall G gay Jalad) liakiag cibudal Al g
dakadl) ) Jaza x dadiial) cilas gl dse = Jalad) gliaciol

Examplel :October Systems manufactures mobile phones, and pays its staff
a piece rate of $1.50 for each phone completed. Employee Jones completes
500 phones in a standard 40-hour work week. What is his total earning.

SOL:
dakadl) o) Jara x dadiial) clas gl dae = Jalad) gl8atiul

1.50x500=A
750=A
Example2: A worker is paid 20$ per unit and he produced 50 units in 8
hours. What is his total earning¢

SOL:
dakadl) o) Jara x dadiial) clas gl dae = Jalad) gl8atiul

20x50=A
1000 =A

advantages of Piece Rate System:
‘z’éj l_dﬁ)_&‘ e Jeaxy gﬁ ¢ L}Jhl‘ s,—.l_aSJlf, 4Ll 5.:‘_;} ) J=eladl 14:..\_"-1

b LS e Buealgll s gd| cuas (aeases JI 7 LYl 8ol a5 cedgll (uds
czleY e ddesll By il

2 oludsl 3 cdgll sleiel auad ailall gl 24k 7Y Juams o ¥ -2
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A8 Ly 59aW wyusml (e Sy (g1 a1 By JST

Disadvantages of Piece Rate System :
gLagi asalyl e Aoyl Gl LY i dgd) Az oyl e Julall Jguas aue-
Aol dlge 355 pue ol Liluall ol SLiySII Ll
USos Ll A4S 481 I Jguo gl Lt pluseia¥ ¢ gud slgdl aIS BaL5-2
o2l Jeladl Lee @omiun (J) dogdadl Sl ol o o e JSLALN 8,)-3

Al Sleludl dad doms Ligild 33,800 aleladl gubul Sle Jaladl yol ol § Flps*
el slelw gl (e wuis Lo gl 0950 Le Ldleg 2dlnl Joe cleluw el (e wuis
o LS Sl oty 38,80 s o Al

deludl ol Jume x 4dlaY Jaadl olelu = Joladl Fliiu!
Ex1:An employee works 50 hours in a week. Her Actual pay rate is $15 an
hour. and Actual time 40 hours. And that the rate of pay for overtime
hours will be on the basis of 1.5 of the actual rate . What is his overtime

and total pay in the week
Sol:
deludl ol Juae x adasll Joadl cileb = Jolad! §lazi
600=15x40
LYl Jeall delud! po! Jume x 2dlad Joadl clelun = Jaladl Gliziul
10x(15x1.5)
10x22.5=225 overtime
AL Aedl) lai) = Sl Jalad) gliatio)
600+225=825

Ex: The actual working hours are (8) hours one day .the work of one
employee 10 hours per day, the rate hourly salary of this employee
is $ 2000 per hour . the rate hourly overtime salary of this employee

is $ 3000 per hour. What is his overtime and total pay in the day?
Sol: Aeldl ol June x 2eladll Joadl clelu = Joladl Glaniul
16000=2000x8

SLY Jeall Aeludl yol Jume x AdLa¥! Jeall Slebu = Jolad! Blisiul

6000=3000x2
AL Aadl) laiy) = Sl Jalad) gliatio)

22000=6000+16000
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Incentive Wages plans s namid) el 4o yle-3
Lo (e dguazll clldg usly ol @ zlo¥ly ool oY Loy (e Zam bl 592 @las pgas
Jleall L Bz sl 5920 oy W1 ey Lasl LayS3 03 0l Geso (A1 52X ads ads)bs
d=las golada plio bl e @ aaloll jl iumd Gapdl bl e @a52] Oy lan
s nes of 55,8l 1o ¥uae foly e Limio caBsm 3LKa ao Jalall olind gl syl
Jalally 7 LY 8oL pdlest elsl e ozl cnolall Lo 8y io Lia ot Jly ¥oall

B lgll Bus gl Lnasie IS ) Jguoll
Differential wage (Taylor plan) (Lobls das) Al oY ¥yl

crominy 7 L (25905 St iy a3 lly A8,ml dlys (el e dadsle Hebls I
sae oly LalS Lzmsys Jaladl jof 38 glad oy 8:LaS 81 (e sl ecaSIl oladl aumm il
e LeausT dalaall 1o (¥oas suy L Jeadl (8 Gt d> (e Lezmily A1 Sl
oo JBY Jolall paas ¥ Bl il (3 A - sl Jolall (adsie ;30 9 by dddl Jalall
¥ A () olS @ Lzl (A adadll i e duazy 61) 2% o Giol s (g1 Jasogall
Al Slasgll sae (S éi dde Jamiw (han ol d> dgagn dalal Jgusl Jalall A1
JoaSl Jualall 2 Blas aalall oty Aaalall 5101 (usio s)luzcls sslils o . Lezmily
das,lall sda comgay ;20 Gludsl @isg. a1 5:LaSs Jeall log sl Jalall pumdy

A Aslall plaseiwl,

sas ol (g lmall A Jare xJelall Lgaiil 3l 2 U5Y) peS =(alall (Sliata)
Lanallxsasd gl

The standard wage rate per unit =  wages rate Dollars /hour

Standard time units / hour

Example : the following Industrial Company particulars, what is his total earning of
workers A and B:

e  Standard time: 20 units per hour
e Normal wages rate: 30$ per hour
e The company has decided to use the Taylor plan to pay wages, as follows

-%800f piece rate when below standard
-%1200f piece rate at or above standard

¢ In a particular day of 8 hours,( A) produces 140 units while (B) produces 165 units
per day.
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Solution:
The standard wage rate perunit =  wages rate Dollars /hour

Standard time units / hour

= 309 /hour

20 units / hour
=1.5$ /Unit
podls Gleludl poazme x Aeludly Blasgll sue= uslgll agdl (55lall 7 LuY!
asall Jls 5umg 160=8x20
samsl) lall 2 Jne xoladl Lmmil 31 7 Lo 2aS = ol 3lamiul
AelIxE o
workers (A) = 140x1.5x80%= 168 $ total earnings of workers A

workers (B) = 165X1.5X120%=297$ total earnings of workers B

Example: the following Industrial Company particulars, Available

During one day: what is his total earnings of workers y and Z in the
day?.

e Standard time: 10 units per hour
e Normal wages rate: 2$ per hour

e The company has decided to use the Taylor plan to pay wages, as
follows

-70 %o0f piece rate when below standard

-120% of piece rate at or above standard

* In a particular day of 8 hours,( z) produces 70 units per day while (y)
produces90 units per day.
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Halsey (o—dla) e adiyl (Ll
method

pilamsl e Jog U i Bgll Cayas pal Jolad Ay 43 3L6SG Joalad) s @iy 3)
L Iolall szl 4aydall sda coogan oY Glwds| @iy (e J—ee
A JLd

Jama * aatiall a8 )+ saliic V) B ) jal = all (e delall (3lasial
(%50 * Lﬁd\:ﬁc\)“ ‘);‘Y\

example: The production Actual time per day for a company is 8
hours and the rate of one hour is 103$. The standard time for the
production of one unit is 2 hours. If a worker produces 5 units

during the day. Required :what is his total earning for the Ahmed
worker in the day using the Halsey method.

SOL:
Standard production time 5 units * 2 hours = 10 hours

-Actual time during the day = 8 hours

=Time Saved azall =dgll =2 hours

Jama * diaiall i gll) + alie V) gl al = Al e daladl Gliaia
(%50 * ks Y
=(8*10)+(2*10*50%) =$90

Rowan Method Ol gy A yha HWIG

Lesly sl 35kl gl e Jolall ol o 18 (sadla) (el Baplal sl 29
Aolall aloseiwly das,kll sda cogos y2¥ Cluds| @iy 9kl cdgll sbsil slas
4L

il / apamiall cudoll) + golze¥l gl Lol = 2% e Jolall Blarud
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example: The production Actual time per day for a company is 8
hours and the rate of one hour is 103$. The standard time for the
production of one unit is 2 hours. If a worker produces 5 units
during the day. Required :what is his total earning for the Ahmed
worker in the day using the Rowan method.

Sol:
cdgll / auazall cdgll) + golae¥l cdgll ol = 23 (e Jaladl Blamil
Aeladl j2l Juaas * Jaall cdgll * (glall
(8*10)+{(2/10)*8*10}=96 $
dllall s

EX: The following Industrial Company particulars ,Basic
wage rate per hour 10.80%, Time allowed for the job — 48
hours, Actual time taken 36 hours. using the Halsey& Rowan
method what is his total earnings of a worker.

592 Aetuloel| 5geall -

Accounting entries for labor cost.
r Sl Sl 8 Gactall ) L o
wage control account....xxx

ledger Costs Control....... XXX

5 dia b g 8l ) S5a¥) JilaS e
wage control account....xxx
direct wage control ....xxx

indirect wage control ....xxx

2y cllead) o B pdliall jea¥) aaisi @

Work in process control ................ XXX
direct wage control ....XXX
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Bodlall & sV i e
indirect industrial costs control XXXX

indirect wage control ....... XXXXX

Aallall O3l & Bt jal) @l @

wage control account ......... XXX
control of wages due account ......... XXX
‘@aiuall jall alaw Gl o
control of wages due account ......... XXX
Bank ......... XXX

*Required: Prepare Accounting entries for labor cost.
: 5 ydld) ad Lelivall LIS uaie Ao dewlell (LIG
Accounting on manufacturing overhead
Aol o fe 5 dad (61 Hs2¥1g lad) day A IS iolic (ro cl puaiall casyliall wad
ol ey 4alSll Ly cdus (Al bl 5ydall uds (3 ddil g 28K s 53l Iiag
540l ellal sl 4ablas i Lgras Lajlisl W 83400 e hams 24 () Casylial
iyl Say dleg (5l Aails olic u a8 Linsss iy g ol (olid I J5smsl!
Jo¥ Jeall 898 of 2L il 3 <Pl of claaill oo gudi pual) 4l b9y iall
(Aadie of Zeus e Jouaxll
e g 0983 wayball ol edlel cau il I (9
Sla bl gl Sleaslly aledl z LY gdall Joal Silass degama : production &bl -1
CAadie o) Aeus e Jgvandl i § 63 lads dcgexs iSeIVICE Aol -2

) il | Bus oIl Leddle s cinyliall cugs o

:Direct expenses 5,4Ld| casyLall -|
a5 e Sl il sums) By8lie Lasiass oSles Bois e suanll blae gans JI AL
A e e A 518G sl 1SS glall LA ISE. (rae e el
sindirect expenses 5 yiLd| addl cisyball-w
e 26l 3L Ldoammiy Wayaons oSes i Ll qidl 5usgd 5ydle Lpapass (Se ¥ (&1 LA 2
s dl e linall Sy all s Il il gl cous Lpgs (Scos <UliS*
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8yilis pts 8ydlis (unn) Liigud canlas -2
S)JZL.LAJ.LC Af')‘bi ;é__DLA.A '3

: Bydld) af Aeliall LI Je L8 JI-

controlling on manufacturing overhead
oo dihazy 48 3850 ol eud S Jexiy Lajas e oIS (e goadl 1 e 28,01 @i
Leluall A IS e GBI claly pieadl @ Aliall (o 5u8 48T oless pe cadISHl s

gl dapl I e o 5L a2

Bydldl a8 delinall K Wuxsy o> -1
Lo g A lisl) Supazad | 3SLAN (e 8,8l st deliuall A SN a1 5559 papmss -2
.(production and services
A Y ST e dpeasd! ST A ISS anje5 Balel -3
i Juemedll a¥aae Jleatuly zull aluasgll e 7Y 5810 SIS Juoxs -4
1 SYE Lo Slshsll sid G lall
(Jamidl o) A uds) 3edld) wé dcliall SIS Luss o a1

i Byaldl ae Aeliall GJIIKEN jasg dyuses o4l
3SThe I pall s 2y 9, il Casllng (a Al S Ssius (e A8 38100 dyaoes Yl
ool Gle sl e ey peldld A8 deus ol Aias dalu 38500 S (e il dalises IS
S IS0 el e IS 1 iolie papasmd A gon i g BLALL L ag-85 (ANl caslis gl
LU e 2euall colessell 4uaSy (2Ll 3550 JS Jo 1y Lmnd] 2aludl 48 iz ISy

23S oiag Hiune Akl 58 U5 Apenill

production control = 4lu¥! 3S1,LI @

services production center 4> lu¥! lausxl 81,0 ®

.services marketing centers &g udll Slousll Sl @

services finance and Administrative center 4ligadly &ylo¥ wleas 81,0 @
Sleds g L oY S LA (0 83 8,8l e Aebuall IS olie tyuzmiy pas :Ldl
DS sda ity asd Loe bl Sy rwlul b 7 Y]
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:(Actual basis)  Jasll olu¥] ©

O3S JS 3 Ldad alail @35 Lo D> (40 B8l e Aelivall o JISEN wussy pas @iy
st Aelinall CaISE mm (Say ¥ 40 any 1doay_3loutly cluiiadl adly oo ST
dodz=i pie Jldby SLL L Buall Ball le ¥ ST e Lliamig ddasll 8,40
| iy 8,dall 2ulp wao 5y tldl e Tueliomll STl alic e 2amuldl susgll 2 pas

L4080 2aal Lauas,

:(Estimated basis) & paadll oluYl ®

ool e ol Laad pouds elel e Bpaldl pe deliunll KD umiy o> o
1Ll Sl @l e sboze¥l abatl] iloay o] B s Hysads Jrases c¥utns
Loty Amiio By ol Al S Jeamd Say duleg 9aWlg sladly pusddl 5Lacdly 0 as
sda glsl oly Al sall ale JI Hlany) 09 Byaldl e Aeliall KN (e
il i elas painlly Aulaall CaSHI o Sy spds JI 655 w8 da,Lal
el ada Lle Lagud @i o) o
Bucdiud| 311 (Jo (Aolall) aSAELI Bydldl nl Holuall AJEN a13950 (orimsi-2
e (Aalall) aSaall 5,ile ae ducbuall G 595 Adoe Cllass o draddelly e LiYl)
Ll 3S1he e paiall 2415 w59t (£oubge culio polal (e Eixdl Lo uazall ST,
Lo 9l ol 5l ) wie L adiilug ¢goln Bue Sliag Sudiud

i sia (e 3218 3850 IS Balat) gue e deiang : Anaill gl deusdl T -
3S5e IS d s as bl 2Bl el e a8t T -oo
3T e 8L IS ane5 wie oS andiud AN (s e Ae gazme Sliag*
by
Yy LA 3850 S 3 592 ol Jsua¥l 2 puieiud :(Value of assets) Jauo¥ dagd -1
Cinliane 3oyl s oLl bl o las¥l)Jie oSl an el Lulad &@1claally
(#...zabiazlly Bl
sl die e IS aoseall Laolaol 3850 JST aga il d Ll ausid :(SPACE) dLud|-2
(& adladl aypally dndoll el .
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o IS a5l Lulul 58,0 S Q3 Aegdall 592 suxruii(paid labor) dcgdudl y92¥1- 3

iSe canylias ‘Jlaadl 3L calalall cliaigad Jaall Galy > s cnalall ol wsl)
(&1, el

Jead sl il Jaall e ¢lgw Joadl cilelu daias : ( hours of labor ) Jeall cilelu-4
(@mslmtll 3 Egmdl’ cxdyally sl Jte oIS a 390 Lalal ¥Y1

:( value of materials) sl¢l! dos8-5

Jaull Caylias) e oIS aet) bl 3850 JS (8 aleniudl olgll dayd PREL BN

(&SIl e ool 03l canylimn sl

:(_Nomber of worker) ¢nlolall 50c-6

5 el Sloasdl) Jte cadISHl asend Laokial 3850 IS 3 crogasll calelall sae aniiud
(@ Jardl 5 walall g Zoladl 331,10

- gpall of 22kl 59l Jaadl s e ylas o Son B8 el Jlin®

Example/ Example/ factory consists of three cost center and includes

information the following.

Details Center. A Center. B Center. c
Number equipment 3 6 9
Worker wages$ 75000 75000 150000
Number workers 70 140 210
Value equipment 150000095 30000005 9000000%
Space 240 300 360
value of materials 17000 16000 26000
Number light 8 10 12
Direct labor hours 50 60 90
Power(KW) 100 1500 2500

And the factory overhead for this center were as follows:

- Lighting  300000%, Rent 75000%, power 90000%, Transport

59000,insurance for crash labor120000, Labor compensation

500009%,Lubrication and greasing machinery18000%,medical service
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150000%,salaries for supervisor 200000$. R/prepaid distribution for this

costs on center (A,B,C).

Solution:
Distribution for this costs on center (A,B,C).

Details Dis . basis T.F.O.H | Center A | Center B | Center c
Lighting Number Light 300000 80000 100000 120000
Rent Space 75000 | 20000 | 25000 30000
power Number equipment 90000 15000 30000 45000
Transport value of materials 59000 17000 16000 26000
Insurance Workers labor 120000 | 30000 30000 60000
Labor Worker wages 50000 12500 12500 25000
compensation
Lubrication and Number equipment 180000 30000 60000 90000
greasing
machinery

Medical service Number workers 150000 | 25000 50000 750000
supervisor Direct labor hours 200000 50000 60000 90000
salaries
Total f.o0.h 1224000 | 279500 | 383500 561000

*Lighting =300000 $

Dis .basis = Number light for this center = 8+10+12=30

Center .A= 300000 * 8/30= 80000%

Center .B=300000* 10/30= 100000%

Center .C=300000* 12/30=120000%

300000%

*Rent Cost = 75000%

Dis . basis = Space =240+300+360=900M2

Center .A=75000* 240/900=20000%
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Center .B=75000* 300/900=25000%

Center .C= 75000* 360/900= 30000$
75000%

*Power cost = 90000%

Dis . basis = No. equipment=3+6+9=18

Center .A=90000 * 3/18=15000%

Center .B=90000* 6/18=30000%

Center .C=90000* 9/18=45000%

90000%

Transport for materials/cost = 59000$

Dis . basis = value of materials=17000+16000+26000=59000%

Center .A=59000* 17000/59000=17000%

Center .B=59000* 16000/59000=16000%

Center .C=59000* 26000/59000=26000%

59000%

Insurance for crash labor/cost = 120000$

Dis . basis = Worker wages=75000+75000+150000= 3000005
Center .A=120000 * 75000/300000=30000%
Center .B=120000* 75000/300000=30000%

Center .C=120000* 150000/300000= 60000%

120000%

Labor compensation/cost = 50000%

Dis . basis = Worker wages=75000+75000+150000= 3000005

Center .A=50000* 75000/300000=12500%
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Center .B=50000* 75000/300000=12500%

Center .C=50000* 150000/300000= 25000%

50000%

Lubrication and greasing machinery/ cost = 180000$

Dis . basis = No. equipment=3+6+9=18
Center .A=180000* 3/18=30000$
Center .B=180000* 6/18=60000$%
Center .C=180000* 9/18=90000%

Medical service/ Cost = 150000%

Dis . basis = No. workers =70+140+210=420
Center .A=150000* 70/420=25000$

Center .B=150000* 140/420=50000%
Center .C= 150000* 210/420= 750000%

150000%

supervisor salaries /Cost = 200000$

Dis . basis = Direct labor hours=50+60+90= 200H
Center .A=200000* 50/200=50000%

Center .B=200000* 60/200=60000%

Center .C=200000* 90/200=90000$

200000%
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Total allocation method (Full total)  (US)1) Jles¥! a5l Ayl -1

Single allocation method (Direct) (8,4Ldl) gal,a3%1 po 3ol 4as)ks -2

Step allocation method (step- Down) (abd!) J3Ladl aiell 445, -3

Reciprocal allocation method (Algebra) Joladl el 280 -4

:Total allocation method (Ful total) (JSJ1) Jleo¥l asjeull ddpls -1

Lol cleasd! 38100 GISE aems Lz gas o > Gplall il (o 3y lall siia aad
Lins s Zgncil 3SLU o dabaia g 9ild bl aloials A ¥ 3SLLI ke Loas 3oy

oaadl
Ex/ The following information pertain industrial company.

Details Production center Production service center | Total

1 2 3 4 A B C
F.o.h 25000 | 15000 22000 | 30000 | 10000 5000 3000 110000
Machine 200 300 200 100 50 50 20
hours work
SPACE 500 1000 500 700 300 200 50
Number 30 50 100 120 20 20 5
equipment

R/ prepare a factory overhead distribution Production service center on Production center
According to the Total allocation method (Full total method) using Machine hours work as

the basis for the distribution of the way 2.
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Sol:

Factory overhead distribution using Total allocation method

Total F.0.H= 10000+ 5000+3000=18000SFor production services center

Details Production center Production service center | Total
1 2 3 4 A B C
F.o.h 25000 | 15000 | 22000 | 30000 | 10000 5000 3000 110000
Dis.F.o.h | 4500 6750 4500 2250 (10000) | (5000) | (3000)
Total cost | 29500 | 21750 | 26500 |32250 |O 0 0 110000
(A.B,C)

Dis . basis = Machine hours For production center =200+300+200+100=
800H

Dis. Cost =

Center .1=18000* 200/800=45005

Center .2= 18000* 300/800=6750S
Center .3= 18000* 200/800= 45005
Center .4= 18000* 100/800= 22505

180005

(ooka) at) ao )y sill las) s Ll 48, Hhall o2a Caaddinl -1

Sl e and JS o) sae LWL B A 22

Aoali¥) cleadd) 580 el o Al cileadl) o) i Al -3

g Lae JS) ) J8L i) 3SI ) Jasd 38 a3 53l Allaadl aae ) a5l 138 501 -4
B_pal) SIS AN 8 3y Hlall s3a aadill -5

:Single allocation method (Direct) (8,&Ldl) (g315a5% as 3ol 4ds,b -2
o (add) Az lo¥ ST e (2ol Slaas 5550 IS pu598 i Aapkall sda cazga
0 U1 3135L1 Reid] agabs el 156 Lely Al oda s, Aseill 3STyell sl
pi L sl O Lele Glag ous 3S0 JS usly Lulul pusiud Lol LS pus 585
e Bisatun 0955 8 (A (6,31 el 3SLL 09 hadd Al ST el)

55



Gl Gy ..o ol ol wlly 9.9
Ex/ The following data pertained industrial company.

Details Production center Production service center Total
1 2 3 4 X y z m
F.o.h 50000 100000 | 75000 25000 2000 8000 10000 15000 28500
Number 30 20 30 10 5 51 5 10
equipment
SPACE 1000 400 600 100 50 200 150 200
Machine hours | 200 300 300 200 50 100 50 | -
power hours 200 200 100 100 - - - -
R/ prepare a factory overhead distribution using Single allocation method (Direct
method) as follows :
- center X distribution to basis Number. equipment.
- center .y distribution to basis Machine hours.
- center .z distribution to basis SPACE
- center .m distribution to basis power hours
Sol:
factory overhead distribution using Single allocation method (Direct method)
Details Production center Production service center Total
1 2 3 4 X y z m
F.o.h 50000 100000 75000 25000 2000 8000 10000 15000
Dis. X 667 444 667 222 (2000) - - ---
Dis. Y 1600 2400 2400 1600 0 (8000) - ---
Dis. Z 4762 1905 2857 476 0 0 (10000) ---
Dis. m 5000 5000 2500 2500 0 0 -- (15000)
Total F.o..h 60028 109249 85424 30298 0 0 0 0
S Sy pous 350 S p5e5 o™
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Center.x Cost=2000$%

Dis . basis = No. equipment =30+20+30+10=90

Center .1=2000* 30/90 =667%
Center .2=2000* 20/90 =444$
Center .3=2000* 30/90 =667%
Center .4=2000*10/90 =222%

2000%

Center.y Cost=8000%

Dis . basis =Machine hours
Center .1=8000* 200/1000 =1600%
Center .2= 8000* 300/1000 =2400%
Center .3= 8000* 300/1000 =2400%
Center .4=8000* 200/1000 =1600%

8000%

Center.z Cost =10000$

Dis . basis =SPACE =1000+400+600+100=2100m2

Center .1=10000* 1000/2100=4762%
Center .2=10000* 400/2100=1905%
Center .3= 10000* 600/2100=2857$%
Center .4=10000* 100/2100=476%

10000$
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Center.m Cost =15000%

bodd daluY Sl Al olebuw pozs
Dis . basis = power hours =200+200+100+100=600h
Center .1=15000* 200/600=5000%
Center .2=15000* 200/600=5000%
Center .3=15000* 100/600= 2500%
Center .4=15000* 100/600= 2500%

15000%

Al daslall 8 Bagasll cogunll das all sia i -1

cielild| Goled¥l sy 2 LWl cileaiiedl 38150 (0 Zenall leasdl dasylall sda (£l5 -2
2235

Slasedl @uuds o 2 lu¥ 381 l) dwlady) 2agdsgll o lawe de Aasylall sda agas -3
ALY 381, Bueluw

Ab Ll dasyball sda jlies -4
Fh o Ll Gaes LY cleasd) 3S1U o olall Aeasdl dxllas § Jiadll Legee (o*
oaad Laaay o A oY cleasd) 5810 wanud of ddlezs|

:Step allocation method (step- Down) ((2l1) (A58 a5 63 48y a3
Lzl 38D e Baydie Bygumy ous 3850 JS adISEl aases Aanball sda cozgan @iy
IS B ¥ o 3800 sy I 3Ll sa 7 Limis 408 5alatul &I (6,331 Buetills
poiey ! Apeusedl 3STHLL o jeall Adee Ty a 5ol bl 9o Al (L3bs ) Lika
S oo el @IS o8 Sleasdl (e Bad el aay ) 3L ol 58BN e sue S
Lloall (i1l (A 108y dely @l 3L 3 381all Loy (Al culossd) 2ad of 381U sae
31 ore Audll (ueds pud5 38100 3929 Ul (9938 el cilons JBT pudy g1 Aol 3S5e
J59L8 J5Y1 @S] 4ialS (395 A1 ST 2RSS 395 T o 2801 Cle lad Zaus)

ARLVY)
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Ex/ company has production center 1,2 and production service center A,B and the

following data.

Details Production center Production service Total
center
1 2 A B
F.o.h 150000 100000 10000 15000 275000
Machine hours 3000 2000 1000 ---- 6000
power hours 1500 3000 - 500 5000

R/ prepare a factory overhead distribution using Step allocation method (step- Down

method) as follows.

Center .A distribution basis power (Kw)

Center .B distribution basis Machine hours.

Sol

factory overhead distribution using Step allocation method (step- Down method)

Details Production center Production service Total
center
1 2 A B
F.o.h 150000 100000 10000 15000 275000
Dis.B 7500 5000 2500 ( 15000)
T. cost 157500 105000 12500 0
Dis.B 4167 8333 (1 2500) 0
T. cost 161667 113333 0 0 275000
: V810% Asis(B) p2da(A) S
500kw
—_—— 0,
5000 kw 10%
1 S17% Axsiy(A ) S oall a3d(B) Se O > (A
1000h
=17%
6000h

(A )50 (B ) S s ol ade
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Center .B

Cost = 150005
Dis . basis =Machine hours (A,1,2) 8 4l Gilsall cle b gand

= 3000+2000+1000=6000h

Dis .cost=
Center .1=15000* 3000/6000=7500% B
Center .2= 15000* 2000/6000=5000% 1/ l\ﬁ
Center .A= 15000* 1000/6000= 25005 2
15000$
Center .A

4 ol Le e aa (B) JSuall (pe Baliia dpad M ade daadle aly (A )ISuall au i dic
18 Aalidy) 380 jal) o day gl Ladl g (B) JSpa (e

Cost = 100005+ 2500= 125005
Dis . basis = power hours ki £:alily) 38) jall ABUal) cilelu gand
=1500+3000=4500kw A

N

Dis .cost=
Center .1=12500* 1500/4500=4167S

Center .2= 12500* 3000/4500=8333S

125005

AL 3kl Juzadl ax3 -1
o Banll S el g Baiaeall S all e Auali) clasdll 5S1 e Sl a5 -2
S 0e S5 )5l il (W) s 5 dead
Vol iS¢ 555 g 38 all o Gl w5l dlee (8 ) saail) (o 48, plall 038 e -3
A aliy) ciledll 581 e S e v
el oy

A =——p B B+A
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Ex. The following data in one industrial company.

I e yoiatel ol il 9.0

Details Production center Production service Total
center
1 2 3 A B C
F.o.h 48000 42000 30000 | 30000 18000 12000 180000
power (KW) 12000 | 21000 | 18000 | 5400 | --- 3600
Machine hours 20 30 30 10 10
No. equipment 50 50 50 20 20 20

R/ prepare a factory overhead distribution using_Step allocation method
(step- Down method) as if .
-The distribution basis for Center .(A) is Machine hours

-The distribution basis for Center .(B) is power (KW)

-The distribution basis for Center .(C) is No. equipment

:Reciprocal allocation method (Algebra) %,Jaw\ é.m:d\ da k4

Lall) 3Shall e daliy) Glaadd) 380 CallSs a8 deaiiuall @ylall 33 e 223
Glaadll 3Shae o Aalial) Gleaddl Jalami Y ooy A4l GHlall 8 dsagall sumdll mllad oag
Claadll jSha a5ad s dgeadlly ApaliV) JShall o 4dllS g)58 ead (S ye JSk i)
o sl Tase uds A8 Ll 038 afiis (5ya) oye Apaadd) 3Shall CadlSs e saliaN) dali)
Al claaall 3She o laadll Jols dga ae 3Shall Hlad) fase Cum e D3kl 43k

: sl Vil iyl ollag

o el gyl digyla i
sl sl Al

Lﬁ)—‘éj‘ @J)ﬂ\ (‘.\\JA.L\.&\ A\A.DH\ al@J C_D}J\ ele

Ex/ company center production centerl,2 and production service center
E,F and the following data.

Details Production center Production service Total
center
1 2 A B
F.o.h 15000 20000 8000 10000 53000
Advantage from .C.B 50% 40% -—-- %S
Advantage from .C.A 60% 30% %$| -
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R/ prepare a factory overhead distribution using_Reciprocal allocation method (Algebra

method):

sol:
F JSoall (e dieas + E 4IS =A (2 i
E JSuall ¢y dhan 4 F S pal) A8S =B (i
A=8000+10% B  ----- 1-
B=10000+ 10% A - ------ 2

(1)ad) Mdlaal) (B 2y gl

A= 8000+ 10%(10000+10%A)
A=8000+(1000+0.01A)
A=9000+0.01A

9000=0.99A

A=229 _ 90918
0.99

(e 4 des Lo S 31:B

Sall (e 44l Cinal Le 9091-8000=1091
(2) ) Adadll (& iy sailly
B=10000+10%A
B=10000+(10%%*9091)

44sg B=10000+909=10909

el Capal Le laiae 3

F :10909-10000=9095

Details Production center Production service Total
center
1 2 A B
F.o.h 15000 20000 8000 10000
Advantage from .C.A 1091
Advantage from .C.B 909
T. cost 15000 20000 9091 10909

il 4ality) 38 pal) o draddd) 380 pal) auss Jay A
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Center .B

Cost = 10909%

Dis . basis = 50%,40%
Dis .cost=

Center .1=10909* 50%=54555S

Center .2= 10909* 40%=43635

109095
Center .A
Cost =9091$
Dis . basis = 60%,30%
Dis .cost=

Center .1=9091* 60%=5455$

Center .2=9091* 30%=2727S

9091$
Details Production center Production service Total
center
1 2 A B
F.o.h 15000 20000 8000 10000 53000
Advantage from .C.A 1091
Advantage from .C.B 909
new. cost 15000 20000 9091 10909 53000
Dis. F 5455 4363 (10909)
Dis. E 5455 2727 (9091) 0
T. cost 25910 27090 0 0 53000
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Ex :Industrial company consists of production center A,B and production

service center x ,y and the following data:

Details Production center Production service Total
center
A B X Yy
F.o.h 90000 60000 3000 15000 | 195000
Advantage from .x 40% 30% - ?
Advantage from .y 40% 40% ? -—
machine hours 15000 7500 7500 -—-

R/ prepare a factory overhead distribution using the Reciprocal allocation
method (Algebra method).

sl c¥ume Jleaiwl Al | Slusoll do dealiY 381,01 adKS Jeoms:lal,
Laods 31 5,2l e Lueliall KA1 e B0 Sl o 55Y1 (2 Bslasll sda das
G A lo¥ ST 8 ey w8 58l e Aeluall oIS o 2aludl olshall o
IS e Lty Amiill el ol Joams Audy i) olidl auivas of z Lol Slad agas
oot Al Jeemd ¥ slaely L) Caulze agay 14 8, aldl e Aeliuall

30 ST Ca SN s Jeemtdl c¥otne of el Ciliiy CadISHl da oo dzmuidl sumgll
oo Axull Slasgll olazal guay 3L @ deadl dapds Y lag WY 3S1he (e
b 5035 &1 slesll
L slglasdl e lal dl gl . a0 80 o0 & Jeesd]l c¥iae wyusd]
Jeazett! Juad aolidl ola¥) ptzes -1
oL 1 (503 51 e 51 B s -2
oyleisl @5 ! Geled¥l e o § - o aSH s -3
Jeemtl c¥une luds| LIS e o2y paole S50 i
Lowall O 13] Juall 1 alaial @2 g Zonill Slassll sue gelad (e Juamtll Juas . 1
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CBus g\ Gl = = Jeazxidl Joas

3§ Al elusgll sue
CEigasdl 8,0l Wl sia*
D el 9 Bghe Aead el e Jpazmtll c¥une . 2
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Ex/Below is the data for one of the production centers of one of the

industrial companies made during 2016
- Direct materials cost = 1200005
- Direct labor cost = 160000$
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- Other expenses cost = 160005

- Product unit = 160000unit

- Direct labor hours = 240000h

- machine hours = 16000h

-Total Factory overhead cost for the production center2400005.

R/prepare applied Rate for Factory overhead cost based on:1.Number of
units produced.2.Cost of direct materials.3.Direct labor cost.4. prime cost. 5.
Direct labor hours. 6. machine hours.

Sol
applied Rate F .0. h
. ..\ 2400005
F. 0. h rat( production unit)= o000 = 1.5 $/u
Rate f .0. h(D.M) =22 x 100=200%
120000

240000% x100=150%
160000%

. 240000$
F. 0. h rate from prime cost =
296000

F. 0. h Rate (D.L)=

X100%= 81%

240000%
240000h

F. 0. h rat(Direct labor hours)= =1S$/h

240000%
160000h

F. o. h rate(machine hours)= =15$/h

calg

Q: Below is the data for one of the production centers of one of the
industrial companies made during 2017

-Total Factory overhead cost for the production center100000S.
- Product unit = 50000unit.

- Direct materials cost = 2000005

- Direct labor cost = 1200005

- Direct labor hours = 120000h

- machine hours = 100000h

- Other expenses cost = 300005
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R/prepare applied Rate for Factory overhead cost based on:1.Number of
units produced.2.Cost of direct materials.3.Direct labor cost.4. prime cost. 5.

Direct labor hours. 6. machine hours.
18 pdlaal) i delial) Cadlill Apuadacall(dadlaall) 3 281
(Babadll) 5,50 e oy )y 3 0bal) e Vs 38kl e 2 sdl ) -1

F.o.h control X X X
Ind.m control X X

Ind. wcontrol X X
Ind .Exp control X X

(F.o.h applied) deadl o, § . (a. Jraad s S -2
X X X

w.i.p (work in process)
X X X

Applied F.O.h
D AY) VD @lia ol e Alesal) CallSHl e ddadll RIS D5 i i

: al el Lfi 4‘99‘9@492\31;‘; -

Applied F.O.h =Actual F.o.h

Applied F.O.h X X X

F.o.h control XXX
. Jeaba 8 QA e Alaaall (RIS fpa aS) ddedl) CASEY @llS 3 o

From

Applied F.O.h X X
Varianceof FFo.h X X

F.o.h control XX

 Jaate ol yatV) (05K Alenall CalSal) e Ja1 Lledl) oIS S Y o
Applied F.O.h X XX

To

F.o.h control X X
Varianceof FFo.h X X
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ol ) 1A alay doa sall Cagplall o Aaliny) ZaUal Culdss ce Al cld) jany) -1
Dbl s ALY Gl 3 (diaddl e o Jiaddll)

(Jaia) s 34 il (S 1) llaw il )
Variance of F.o.h X X Profitand loss X X
profitand loss X X Varianceof Fo.h X X

& Jaaadll oy s Ay padl) g Jalasll SV dlae] 848 aae e AUl Sld) ) -2
(VS5 (weip) il ad A8 Glies

(Saba)cun 90 il ) (Sada ) callu il Al
Variance of F.o.h X X w.i.p XX
W.i.p X X Varianceof Fo.h X X

WY clea glcost of good sold Aclull delianl) 4K Cilua A <l i) Gle -3

iVl g 58 cea wiip dpndill Gad 2 ) finished good 24l
(Seaia) i ga il (Saia 5 ) llus il )

Variance of F.o.h X X X
cost of good sold X X
finished good X X
cost of good sold X X

Q3/The following data for industrial company estimated factory overhed
based on production 30000u.

-indirect materials cost = 2200005
- indirect labor cost = 2400005
- light and heating= 850005

- depreciation machine = 2500005

5700005
During the period the actual factory overhed was 5596005
R/1-prepare the rate factory overhead and general entries

2-Determine and closed the variance of F.O.h.
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job Order Costing System

SLY Relis Ll c¥laa)Jie aes Ll 09 ¥ ANl Laliats¥l clusgll 5 allail) 1ia §da
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Advantages of Job Order costing system
1 e il el JSo Ll Lpdlay laiolgn 939 (Aaed ja8) go-iie O3S0 g LWl Aapls o) 1
3
olo¥l e op (e Aalisee Apased A 2lul Wl S 2
ol oyt ey AL i (e Boame cldbs e Teliy z oY @ 3
Al oy Bgllall cligaloll lasass &bl 3STe e z Yl o 4
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Y Adee Grun il o) 6

N

disadvantages of Job Order costing system
ol S e 30801 Jigolanlly dalall 2l esaty S a8 LS i I gl Ll allasll Cge Ll

A lae de cMx ) Busg 9 Jead! Adaoy 3liay é.ﬁ\ Loy dJolis e éﬁ\ 4oyl

P oY eolgYl (e dcwlxll
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Jl IS 055 Sl
Data Order number D.M D.L M.O.H Total cost
job Order Costing System
Actual Normal standard
At the end of the period At the beginning of the
Production cost Production cost period
*DM Actual *DM Actual Production cost
*DL  Actual *DL  Actual *DM budgeted
*MOH Actual *MOH Applied *DL  budgeted
*MOH budgeted

*MOH Actual
A: Actual MOH Rate=

daled a& ua.«

Aladl) GRSl a5 ) pulas

B: MOH Actual COST= 4.ladll a1 Jaaaill Jasa X Apladl) ddlcal)
*MOH Applied
MOH Applied= 3 aaall 28l Jrearil) JaeaX doleal) 4al<H)
*MOH budgeted

5 jika a& ua.«

A: budgeted MOH Rate= 5 jial) A o551 el

B: MOH cost = 3;33al) 4al<8] Joaatll Jamax 5 )aall dalill

accounting entries ( dsulaal) 35481 ) ALl clallaal)
1 gall g i e ]
Raw material inventory control ............. XXX
L0 T | XXX
Or

account payable

(DMLIM).5 jdbsal) yi g 5 ytluall 3} gall i o 52

WIP inventory control(DM)........... XXXX
MOH control (IM)....cceeveeiinnieiinnnenn XXXX
Raw material inventory control ............. XXX
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(DL.IL).3 lsal) pu 98 plilsall ) aY) L pa 2ie 3

WIP inventory control(DL)........... XXXX
MOH control(IL)...ccccoevviiercciinnnn XXXX
L 1 1 T e XXXX
or
Wages payable

af. 0as 4

A:MOH actual= IM+IL +Others expenses

MOH control l,, ......... XXX
Accumulated depreciation...... XXX
Heating& Light........ccccoevvennaeen.. XXX
Rent factory.....ccccevveviiiiiiniiiniennnns XXX

B:MOH Applied
MOH Applied= 38l 443 Jraaill Jarax diledl) 48lSH))
WIP inventory control........ XXX
MOH applied...................... XXXX

ald) AN 5

MOH applied.................. XXX
MOH Actual.......ccccevveiiniiiiininnnnnn XXX
(im+IL+MOH)
dlasal) e a8l Auledl) Caullel) cuilg 1) *
MOH applied.....cccceevieviiiiiinnnnnnn. XXX
Variance MOH............ccccevevininnnnee. XXX
MOH Actual......cccoevniiniiniiiiniinnnen XXX
(im+IL+MOH)
COGS...vvvviiriiiiiniinannen. XXX
Variance MOH..................... XXX

o381 Akl (uSe Alanall cpe JB) Agledl) CaIE il )3
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finished production a4l zUWY) .6

Finished goods inventory control........ XXX

WIP inventory control................... XXX

a Finished goods inventory Cost of goods sold................. XXX
control........ XXX
B:
Cashor A/R.....ccceuvuinennne XXX
Sales revenue c.ceeeveeeeeeeenennnn XXX

(T.account ) csbul (389 s JS(posting) Jss s

Ex1: You have the following information about an industrial company for the
manufacture of ready-made garments that use the job orders system :

-MOH cost applied at a budgeted 31$/machine hours
- beginning balance material control 18.000.000
- beginning balance WIP control 9.000.000

- beginning balance finished goods 10.000.000

-material purchased on credit 154.000.000
-DM used 152.000.000
-IM 19.000.000
-DL 96.000.000
-IL 34.000.000

-Depreciation of factory (plant) 28.000.000

- MHO Cost (Heating& Light) 13.000.000

-MOH Applied ?

-MOH Actual 3.000.000 m per hours
-cost of goods manufactured  298.000.000
-sales revenue 410.000.000
-Cost of goods sold 294.000.000

Required: Prepare the accounting entries and posting to T-account(material control,
WIP inventory control , finished goods inventory control ).
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SOL:
1. Raw material inventory control ............. 154.000.000
account payabile.............ccucuu...... 154.000.000
2. WIP inventory control(DM)........... 152.000.000
MOH control(IM)........ccceeeevereneenee. 19.000.000
Raw material inventory control ............. 171.000.000

3.

WIP inventory control(DL)........... 96.000.000

MOH control (IL)....ccccceeueerrenrennees 34.000.000

Cash or Wages payabile.................... 130.000.000

4,

A:MOH actual= IM+IL +Others expenses

MOH control . ¥............ 41.000.000
Accumulated depreciation......28.000.000
Heating& Light......................... 13.000.000

B:MOH Applied
MOH Applied= 334l 4831 Jraatll Jane X dlaall 4al<il)

31 X3.000.000=93.000.000

WIP inventory control........ 93.000.000
MOH applied......ccccoceervceervnenene. 93.000.000
5.
MOH applied........cccocerurirurunen. 93.000.000
Variance MOH...........ccccecuruerueen. 1.000.000
MOH Actual.......ccoeevveveeeerneenunnees 94.000.000
(im+IL+ MOH)
60 1 C1. T 1.000.000.
Variance MOH..................... 1.000.000
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6. Finished goods inventory control........298.000.00
WIP inventory control.............. 298.00.000
7.Sale goods delayl gy a8
A:  Cost of goods sold................. 294.000.000

Finished goods inventory control....... 294.000.000

B: Cash or A/R.........c.u..... 410.000.000
Sales revenue .......cccocveveenne 410.000.000
material control WIP inventory control
debit credit debit credit
Beg.balance18.000.000 (DM,1M)171.000.000 Beg. balance 9.000.000 FGIC.298.000.000
Purchased 154.000.000 DM 152.000.000
DL 96.000.000
1.000.000 MOH applied 93.000.000 52.000.000
4
172.000.000 _~" 172.000.000 P
Pd 350.000.000 / 350.000.000

/ pd

1.000.000 52.000.000

finished goods inventory control
debit credit
Beg. balance 10.000.000 C0OGS.294.000.000
WIP 1. control 298.000.000

14.000.000

308.000.000 308.000.000

/

EX2: You have the following information about an industrial company that

14.000.000

used the normal costing system for the 2014

Budget Actual
MOH 2.700.000 2755.000
DLC 1.500.000 1.450.000

1:Compute the budget and actual MOH rate if the direct labor cost is considered
as the cost allocation base:
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2.if job 626 had provided the following (DM40.000,DL30.000) Compute total
costs under

A:actual costing system

B:normal costing system

SOL:
1. .
8 a8 Al was
Budget MOH Rate= 5 ) Sl g ) e
A 2.700.000
1.500.000
A=1.8$
Alad af. pa
Actual MOH Rate=
Aladl) caiet @jﬂ\ bl
A= 2.755.000
1.450.000
A=1.9%
2.A:
Data Order number D.M D.L M.O.H Total cost
2014 626 40.000 30.000 1.9$X30000=57.000 127.000
B:
Data Order number D.M D.L M.O.H Total cost
2014 626 40.000 30.000 1.8$X30000=54.000 124.000
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Process costing system

il e e ey lera¥ly daaidly Lol caan @) wladll @ ey do [l allas ausiug
Sboyid) delie 35,4 mudlly Jall deluo 45,8 LaluY) Jolll S allss ausrud of (Sep I
e Tely s (lade) Jacidl ol psss @ cleluall o @l Joid! delus 38,40 2Ll
Sl Lellay (&) wlasalsll

Usyll 3 8,abll a2 Bucluall oISy 5929 slsll B8] @iy 631 Aoye ] Aspa (0 Y 1eu 3]
ims of ) 10Say 2olll als,dl ) dhgms @iy ol z T omy Ayl § Jdad)l cldee olpal dag
& z Y s Yo Al Ao all als Bale Jo¥1 Ayl § alidl 2 LY g oLl z LY Giliee J) z LY
OF @ Ly plall @8 Lasssess Zaladl sda zlul asasis BLAL oF Jy o5lsdl oldlad alasdl 1ia b
ppatll Geun 7Y

(il s Joal) Aclia)Jlia - AUl JSEIL AdUal) Ja) jall e 65 S

A

Uil i | (3) 3

ALl £ luaY) gl Jl

(2) Us yall | & (1) da )

Lol ol a5 allas § Buusyll ASAL

Main problem of Process costing system

Equivalent units  (Jslall z Y1) uilmil| z LY oo 28,8 § Jios ™

Example:__suppose that In one of the industrial companies amount of finished

production5000unit Ending work in process 1000unit, Degree of completion 70%.

Required :Calculate Equivalent units.

Solution:

Equivalent units= Finished production+ (Ending work in process* Degree of completion)
A=5000+(1000*70%)

A=5000+700 A=5700

Y] o) allss Jlb 3 z Loy 2aK dyaas clghs sl

Steps for determine the cost of production accordingto the Process costing system:
Olglasll &Lgi PEEREENY e ) 4y Js S0l coms EL:.'.}’b Al CL;_M Gl J Jguagdl 2l e
L aJdud
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calaymlly cM Al e 09Sa g dlg U pall (ST liad ¥ i (1
Jolall z LY y,a5 slael (2
Busoll 28K La gt dadmeiy Lple 2wl einw S 46T cyases (3
(a8l pasle ) ALl 7 ) 26K a5 slael (4
Jg) Sl coal 7 L) g i Jg—ag pas Adla B Jalpe i Al ik L g¥) A

Baall JA) Sl caad g ) agagy ol

Ay claag s e jlya By ply s Aeliall gyjldie aa) b gLy et Jlta
alil) gLy 0 Jp—ag Lgia aiBaag 8200 el SN2 gLt iy a3
Coad A dial) claagl) cpiicly ¢ saag 7500 jg—idl Gu—ii JS—A Finished Goods
o B oa g d—aall L il %50 5 Sg—all Ay illy %100 Aoy A—als i

s Al yall e L) el AaMA ilg

Uk 24600 ga
O 9420 25
L 7850 af.pa
41870 £ saxall

l—udaly (Equivalent Units of Production) ;AL <all z L) claag clwdal /a

Sasgll A4S Jauigia

JPTCL e vy { RV B3N

‘;ASS\ Gy Jaaldiil)
3aal) Jgf Jurial) caadl cilas g
8200 g sl ol Bagaa Silaa g
8200 Lle aadaal) Al Al cilas gl Alaa)
7500 alll z LSy
700 Saall JAT Jaddl) caad cilas g
8200 le Lol caai Al cilaa gl Alaa)
1Sl gL 8.2
Jagad,a | B udilaa ) Q) Silaa g Jaaldil)
7500 7500 7500 ‘ A gaa dali cilan g
350 700 700 Baal) A Jaddl) caad cilas g
7850 8200 8200 Al ZUN) Sl g
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LY allss 883

daa o) AlS Agllaaly) cadlil) | clas gl Jaaldilf
3 24600 | 8200 3 5a

2.2 17270 | 7850 Jisadia

5.2 41870 Lgale Apadaal) alies CiLSS

saagt 5.2 | 39000 | 7500 | Ll e Liay) 44l
aal) LA Jaddl) caad 481

sl 53 2100 700 e
gt 2.2 770 350 Jrsalia
2870 £ gaaal)

41870 Ll palanall Caa GRS

J9) el | il Zemsiel| 1§y 3G § el () o | o0 (el i 10 i el el
dabl yi | Junieiicel) il Zhii) 29299 dad!

i (s Ata pal) QaAl Al el g Aaliite Ayl oAl o gadil) A< L) Sl
2009 ale (e

- Gilaa gl

2JAa %33 3235600  Saall gy Skl cad claag
33 9 4800 U jal) gy iy claag

52 54600 U gaa g dali laag

3ala 0475 3125800  ball LA Juddl caad cilaa g

s gy
- Baal) Jg) Sl cia
S 1215 ) e
2585 28

S22 975 af.oas

- 5_ydl) 4813

J2 6885 3 sa
3315 25

JEaa 5525 af.oa

Saa ol ARIST Jauy gla iluial g u.él&d\ U ladal-; < gllaal)
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S Q) 8]
S Gl Sl
600 Saall Jgl Jdudial caad cilas g
4800 g2 sl a3 Baaa Slaag
5400 Lo Aulaal) Al AN Gl gl Mlaa)
4600 A gaa dali cilaa g
800 Saall A Jaaddl) caad cias g
5400 ale Lualaal) caai Al cilaa ol Alas)
sl Ny 582
Jisxia b pdilsa,a <lia g Jaalil)
4600 4600 4600 A gaa dali i g
600 800 800 Baall JAT Juaddl) caad cilas g
5200 5400 5400 (Al ZUN) il g
WY il 8.3
saa o) AlS Allaal) il | clas gl Jaaldilf
saastl junl.5 8100 5400 3 ga
saall i 10400 5200 Jugada
35 18500 Lo dpulaal) alia Cyllss
sas gl) AlS Allaal) il | clas gl Jaaldilf
saagll 3.5 16100 4600 Al deliay) 488
Baall JA) Jurdidl) cuad 4481
sl unl.5 1200 800 3) ga
sia gl il 1200 600 disadip
2400 £ saxall
18500 gale Avlaall el Ciyllss

Ex: The following information :
1-opening Work-in-progress : 800 units valued as under:
material ~ 3200%
Labour 452%
Overheads 264%
2- Input of materials: 9200 units
2- Current cost incurred in process:  material ~ 36800$
Labour 16900%
Overheads 82503
3-Closing Work-in-progress : 900 units

4-Transfer to next process: 9100 units
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5- Degree of completion

material

labor

Overheads

Closing Stock (%0)

Required a-Statement of Equivalent production .

b- Statement of Cost per Equivalent unit

sol:
=S by Saalditf
800 3aal) J gl Juhidl) cuad cifaa g
9200 g2 sl ol Basaa Gilaa
10000 e Aulaall Al AN il gl Mlaa)
9100 ;\JJA.A PR Glda g
900 Baall AT Jaddl) caad cilas g
10000 Lgde Apalaal) cuad 3 s gl aa)
1Al gL 852
pE.0a.8 25 dpdlma | clay el
9100 9100 9100 9100 4 e 4l Cilaa g
(%40%900)360 (%60%900)540 900 900 |  Baall LAl Jadal) cad cilaag
9640 9640 10000 | 10000 Al ZURN Slaa g
g Y il 8.3
daa gl A8lS Allaal) cadldl) | claa gl Jaaldlf
Baa gl JL'.,\A4 40000 10000 J“QA
saa gl JL'.,\.\O-g 8514 9460 e,é.uﬂ,&
6.7 65866 Lgale Loalaall aties LSS
saa sl 1B.7 60970 | 9100 | a3l de L) 4als
aall A Jurdil) cuad 481
saagll ol 3600 900 3 g4
saagll inl.8 972 540 Jsl
vast 12:0.9 324 360 2. .00,
4896 £ saaall
6.7 65866 le Aulaal) coad CaISS
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EX2: The following information prepare :

1- Input of materials: 10000 units

2- Current cost incurred in process: material 40000$

labor 19460%

Overheads 93703
3-Closing Work-in-progress : 900 units
4-Transfer to next process: 9100 units
5- Degree of completion

Closing Stock (%)

material 100

Labor 70

Overheads 30
Required

a-Statement of Equivalent production .

b- Statement of Cost per Equivalent unit .

. ot ol iy 9.0

JPrS | N RV (VY |

S Gyl Janaldil)
Baall Jgl Jadil) caald clas g
10000 s £ a5 Bta Gl g
10000 Lle Aulaall Al AN Claa gl Mlaa)
9100 L gaa dali las g
900 Baal) AT Jaddl) caad cilas g
10000 Lle Luadaal) cual Al cilaa gl Alas)
sl Z Ny 582
pE.0a.s 25 b puilsa,a ) Jaaldl)
9100 9100 9100 9100 A pae Al laa g
270 900 AT Jaadl caas claa g
630 900 Saal)
9370 9730 10000 10000 (Al ZUN) Clas
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LY allss 883

saa gl A8lS Adlaay) cadlsl) | claa gl Jaaldilf
faastl judh 40000 10000 3 g4
wiasll 2 19460 9730 252
wiast il 9370 9370 2.8 .08,
7 68830 Lgle dpndaall alie RS
saasll | 63700 9100 Lalll Ae L) 44l
Baall LAl Jadal) cuad 4AlS
st el 3600 900 3 g4
vl 2 1260 630 ™
wiast il 270 270 2.8 .00,
5130 g saal)
68830 Lale dpslaal) caal Cillss

S5 g 31 gall cild) ad)

variance of materials and Labour

+_ilaall ) gall cild) o) =Y )
A Cal sl

s ilaall Jand) () ad): L).':L’.'a

Y Jaee Gl yail 1

el 3168 Cal i) D

Material Cost Variance 5 _pdlaal) o) sal) 8 jasl 1Y

Material Price Variance - ) () jad) ]

Material Price Variance = Actual Quantity *(Standard Price - Actual Price)
sl MPV= AQ*(SP-AP)

(il el s ) jacdly # ladl) AuaSl =) gl paidl il yad

EX: Calculate the direct material price variance if the standard price and
actual unit price per unit of direct material are $4.00 and $4.10 respectively;
and actual units of direct material used during the period are 1,200.
Determine whether the variance is favorable or unfavorable.

SOL: MPV=  AQ*(SP-AP)
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1200*(4.00-4.10) 1200*-0.10

MPV=-120 unfavorable

Material Quantity Variance =4St il yadl 2

Material Quantity Variance=standard price* (Standard Quantity - Actual Quantity)
Jsale MQV=SP*(SQ-AQ)
(Aaladl) pasl) - 4 el Arasll) * 5 jlimall jmad) = das) il )
; | 4

v

datiiall Gilas ol 2o * 3as Gl o) gall e Ao jlmall cilaliia¥) = 4 el 401

Ex: Use the following information to calculate direct material quantity variance. Also
specify whether the variance is favorable or unfavorable.

Standard Price of a Unit of Direct Material $4
Standard Quantity of Direct Material Per Unit 2
Actual Units Produced During the Period 620

Actual Quantity Used During the Period 1,200

SOL:
MQV=SP*(SQ-AQ)
4*(1240-1200)=160 favorable
Labour Cost Variance s el Jaadl G jad): Wil

Labour Rate Variance AV Jara G jadl 1

Labour Rate Variance = Actual Hrs* (Standard Rate - Actual Rate)
JsaAb  LRV=AH*(SR-AR)

(L8l ;2 Jama (5 jbaadl 2 Jana) * ddadl) Jaal) Cilelu = 52 Y1 Jana il sl

Ex: The human resources manager of Hodgson Industrial company for Design estimates
that the average labor rate for the coming year for Hodgson's production staff will be
$25/hour. This estimate is based on a standard mix of personnel at different pay rates, as
well as a reasonable proportion of overtime hours worked.

During the first month of the new year, Hodgson has difficulty hiring a sufficient number
of new employees, and so must have its higher-paid existing staff work overtime to
complete a number of jobs. The result is an actual labor rate of $30/hour. Hodgson's
production staff worked 10,000 hours during the month. Determine whether the variance is
favorable or unfavorable.

SOL: LRV=AH*(SR-AR)

=10.000h(255$-30$) =50.000S$ favorable
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Labour efficiency Variance Jaad) BeliS il jad) 2

Labour efficiency Variance = Standard Rate (Std Hrs - Actual Hrs worked)
Jsaslb LEV=SR(SH-AH)

(il Jaad) el - 3 jlmall Janll cleli) *eslmal) Ja¥) Jine = Janll 3 Cal i)

il s gl aae * Bas gl 2 Y 4y jleal) e L) = Tkeal) Jeall cile L

Ex: Nice furniture manufacturing company presents the following data for the month of
March 2016.

Standard direct labor rate per hour: $6.50

Actual direct labor rate per hour: $6.75

Standard time to produce on unit of product: 3 hours
Production during the month of March 2016: 600 units
Hours worked during the month of March: 1850 hours

Required:

1. Compute direct labor efficiency variance.
2. determine whether the variance is favorable or unfavorable

Sol:
LEV=SR(SH-AH)

Aaial) Slas gl dae * as gl LY A el cilebul) = 4 jhaall Janll el
3*600=1800

6.50*(1800-1850)=325S favorable
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